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CHEMISTRY

BOOKS - MS CHOUHAN

ALKYL HALIDES (SUBSTITUTION REACTIONS)

1. Which of the following is not expected to be intermediate of the

following reaction ?


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_p9ij7GhFFw3b

A
B.
+}
EDHE
C.
@*
D.
Answer: A
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https://dl.doubtnut.com/l/_p9ij7GhFFw3b

| @J Watch Video Solution

CH,4
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H—t——CH,

CH, — CH,

2.

the reaction is :

CH,
[—1—H
H—— CHB
CH, - CHs
A.
CH,
H——1
H—— CHj;

CH, — CHy

Acetone

- product; S 2

product of


https://dl.doubtnut.com/l/_p9ij7GhFFw3b
https://dl.doubtnut.com/l/_AWN1wJQ7sDls

I—7 CH3
H— CHB
CH, — CH4
C.
CHg
l-——H
CHS'-—"——-H
CH, - CHjy
D.
Answer: B

o Watch Video Solution

3. Rate of Sy will be negligible in :

Br


https://dl.doubtnut.com/l/_AWN1wJQ7sDls
https://dl.doubtnut.com/l/_qDLYdTiyqNQg

Br

B.
Br
C.
Br
D.
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qDLYdTiyqNQg
https://dl.doubtnut.com/l/_pH0gR36dnbip

4. What is the major product obtained in the following reaction ?

CH,-Br

L roduct
EAOLH p
: :E,Hz—-NHz
CH,-Br

: :NH 5
: CH,-NH,

C.
: CH.,-NH,,
D.
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_pH0gR36dnbip

CH,

|
5. Cl]-CHy — C —CHy —CHy; - Cl+ 1

|
CH;

product of this reaction is:

CH;
|
Al— CH, — |C' — CH, — CH, — Cl
CH;
CHj3
|
B.Cl — CHy — |C — CHy — CHy — 1™
CH;
CH;

|
C.Hy,C= C —CHy —CHy = Cl

CHj;
|
D.Cl-CHy, — C —CH, =CH,
|
CH;

Answer: B

——  product,
DMF

Major

o Watch Video Solution

6. Which of the following expressions is representative of the rate law for

a Spye reaction ?


https://dl.doubtnut.com/l/_pH0gR36dnbip
https://dl.doubtnut.com/l/_Qjj7qgRNoFIh
https://dl.doubtnut.com/l/_zpVD86nZcKWM

A. Rate =k [electrophile]

B. Rate =k [electrophile] [nucleophile]
2

C.Rate =k [nucleophile]

2
D. Rate = k[eIectrophiIe]

Answer: B

o Watch Video Solution

”‘@F—F Nal {1 mole)
H

7. Br

product of this reaction is :

Mt_'tun_r:_ o {A:l ;

 major)

Major


https://dl.doubtnut.com/l/_zpVD86nZcKWM
https://dl.doubtnut.com/l/_LFadykP7JXfz

C.
il _NcH
Br |
D.
Answer: B

° Watch Video Solution

8. Which of the following alkyl halide undergo rearrangement in Sy:

reaction ?
CH,
|
A.CH; — C — CH — CH;
| |
CH, I
Cl

CH;



https://dl.doubtnut.com/l/_LFadykP7JXfz
https://dl.doubtnut.com/l/_S19w9lO0x9Ue

D. All of these

Answer: D

° Watch Video Solution

9. Arrange the following three chlorides in decreasing order towards Sy

reactivity.

1 N (2) /\ﬂ/ (3) /\m(

Algt2gt3
B.2gt3gt1
C2gtigt3

D.3gt2gt1



https://dl.doubtnut.com/l/_S19w9lO0x9Ue
https://dl.doubtnut.com/l/_blqMzK0ghQtY

Answer: B

° Watch Video Solution

10. Which compound undergoes nucleophilic substitution with NaCN at

the fastest rate ?

A.

B"\()\/\
B.

Br\></\
C.

Hr><\/\
D.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_blqMzK0ghQtY
https://dl.doubtnut.com/l/_2jrdyh6v9X4n

1. Rank the following in order of decreasing rate of solvolysis with

aqueous ethanol (fastest — slowest)

CHj CH, Br
O e
H.,C =C—Br Br CH, —CHCH,CITICIT; ),

(1) (2) (3)

A2gtligt3
B.1gt2gt3
C.2gt3gt1l

D.1gt3gt2

Answer: C

o Watch Video Solution

12. The reaction of 4-bromobenzyl chloride with sodium cyanide in

ethanol leads to the formation of :

A. 4-bromobenzyl cyanide


https://dl.doubtnut.com/l/_TrivViC1xRsa
https://dl.doubtnut.com/l/_vawUIzaExUIz

B. 4-cyanobenzyl chloride

C. 4-cyanobenzyl cyanide

D. 4-bromo-2-cyanobenzyl chloride

Answer: A

o Watch Video Solution

13. Which of the following reactant will not favour nucleophilic

substitution reaction ?

Br

B. Ph-Br

CH;,
|
C. CH3 c — CH2 — Br
|
CH;

D. All the above


https://dl.doubtnut.com/l/_vawUIzaExUIz
https://dl.doubtnut.com/l/_DkxWqyKdtY49

Answer: D

° Watch Video Solution

14.

Conversion of | to Il :

A. takes place by Szlv
B. takes place by Sx,
C. takes place both by S} and Sy

D. does not take place

Answer: D

(I}

° Watch Video Solution



https://dl.doubtnut.com/l/_DkxWqyKdtY49
https://dl.doubtnut.com/l/_EVCl4undDjhL
https://dl.doubtnut.com/l/_qX06CEd5xmI5

15. Which is the correct reaction coordinate diagram for the following

solvolysis reaction ?

CH, CHg OH
ey H,0 ", "y,
“Br —— > 7OH + 7 CHy
- t
AG
Reaction Coordinate
A.
AG
Reaction Coordinate
B.
AG
C Reaction Coordinate
AG

Reaction Coordinare


https://dl.doubtnut.com/l/_qX06CEd5xmI5

Answer: B

° Watch Video Solution

14C 1abelled

O'Ts
RCO,H

> product;

16.

Product of this reaction is

A

OCOR
O

C.both (a) and (b)

product,


https://dl.doubtnut.com/l/_qX06CEd5xmI5
https://dl.doubtnut.com/l/_ASB3XpdB6Kde

D. None of these

Answer: C

° Watch Video Solution

CH,
WNBE {1‘1}
17.
is :
CH,-$-CH,
A.
I
—-CH,

[ 3

Product (B)


https://dl.doubtnut.com/l/_ASB3XpdB6Kde
https://dl.doubtnut.com/l/_vznOAi4noBOl

$-CHg
CH,-Br

D. None of these

Answer: A

° Watch Video Solution

18. Which of the following represents the correct graph for Sy2 reaction ?

log (rate) \\\

T ’ >
Clly - Br Gl - CHy-Br CHy - CH-Br  CH
CHy  CHy=G-Br

A
:

loglrate) | 5

T T T T
B CHy-Br  Et-Br i-Pr-Br ¢-Bu-Br

log (rate) //

CHy-Br  Et-Br i-Pr-Br ¢_Bu-Br

C sopeops)
.

log (rate) N

D CHy-Br  Et-Br i-Pr—Br t—Bu-Br


https://dl.doubtnut.com/l/_vznOAi4noBOl
https://dl.doubtnut.com/l/_d2Pfbkds78BG

Answer: A

° Watch Video Solution

19. Which of the following graph represents correct graph for Sy

reaction :

log (rate) x

I T T T
CH; ~ Br CHy - CHy— Br CHy - CH-Br Hy

CHy  CHy-C-Br

T
A

log (rate) S

B CHz-Br  Ft-Br i-Pr-Br (-Bu-Br
log (rate) /
T T T g
C CHz-Br  Et-Br i-Pr-Br t-Bu-Br

log (rate) \/\/

D CHy-Br  Et-Br i-Pr—Br t-Bu-Br

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_d2Pfbkds78BG
https://dl.doubtnut.com/l/_beH8PJEor7hL

20. Which of the following is most reactive towards Sy 1 reaction?

Cl

CH,4

Cl

Cl


https://dl.doubtnut.com/l/_HV14ZpxMUX8f

Cl

NO,

Answer: D

o Watch Video Solution

21. Among the given pairs, in which pair first compound reacts faster than

second compound inSy: “reaction ?

A.CHs - CHy — CHy — CHy — Br or CH3 — CHz-C‘H — CHj;

Br
CH; CHj
| \

B.CH; — |C’ — CH, — CH,Br or CH; — ‘C'H — CH — CH;

CHs Br

Br Br

C.

CH3 CH3

| \
D.CH3; — C — CH3 or CH3; — C — CH;s
| \

Br I


https://dl.doubtnut.com/l/_HV14ZpxMUX8f
https://dl.doubtnut.com/l/_eOLNeR1zSC6Z

Answer: B

° Watch Video Solution

22.What is the major product of the following reaction ?

H,C =CH - CHy, — OH ﬂ) Product

eExrcess

Br

A.CH; — CH — CH, — Br

B. HzC =CH — CH2 — Br

Br

C.CH; — CH — CH, — OH
OH

|
D.CH; — CH — CH, — OH

Answer: A

o Watch Video Solution

23. Sy and Sy:2 products are same with (excluding stereoisomer):


https://dl.doubtnut.com/l/_eOLNeR1zSC6Z
https://dl.doubtnut.com/l/_2B0TlJNQzCPb
https://dl.doubtnut.com/l/_Q74zae4GLm56

Cl

al
. Ci

D. Ph — C|H — C|H — CH;
CHy;  Cl

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Q74zae4GLm56

24, Consider the nucleophilic attacks given below. Select in each pair that

shows the greater Sy: reaction rate.

[A)/K/Br + TN or /J\/O/ﬁ\CH3+ “CN

n (1)

(B} H3C—Br+ SH or H4C - Br + CH,5H
(1 (V)

() <:>—Br + Cl° or Q—Bf + 1 in DMSO

)

(VI)
(D) QBF +Cl or <:>—Bl' + 17 in methanol

(VID) (VIID)
A B C D A B C D
(@) M; (V) ; (VI) ; (VIID) {(b) (I ; (D) ; (V) ; (VIID)

(@ (O 1D ;(v); (VID (d) (O ; (1) 5 (V) 5 (VID

o Watch Video Solution

25. Which of the two stereoisomers of 4-t-butylcyclohexyl iodide (127I_)

will undergo Sf\, substitution with 121 ~ faster, and why?

I1 27
HH H

\ ] I i | 2 ? \\\\' H
o 1#

(A) (B)

A. A will react faster because it is the more stable of the two isomers


https://dl.doubtnut.com/l/_HF2igpSbph8L
https://dl.doubtnut.com/l/_PmNRtiP9aaKy

B. A will react faster because it will yield a more stable product, and
the transition state for both reactions is of the same energy

C.A will react faster because the approach of I~ can depart
unhindered.

D. B will react faster because it is less stable than A, and the transition

state for both reactions is of the same energy

Answer: D

o Watch Video Solution

26. (Z)-2-Butene reacts with Bry / HyO. The resulting bromohydrin when
treated with methoxide in methanol undergoes an intramolecularSy:
reaction. Taking into consideration the stereochemical consequences of
the reaction mechanism involved, choose the final product(s) of these

transformations.

Q 0 0.

Hewe, QHCHg (N HyC ;...,&‘....H (Il Hl""/A"HH
H H CHy

H,C HaC CHj


https://dl.doubtnut.com/l/_PmNRtiP9aaKy
https://dl.doubtnut.com/l/_Fp4qaUr43vah

A. () only

B. (I1) only

C. (1) only

D. Equal amounts of (I) and (I1)

Answer: D

o Watch Video Solution

27. Rank the following species in order of decreasing nucleophilicity in a

polar protic solvent (most — least nucleophilic):

0]

|
CH4CH,CH,0~ CH3CH,GI,S ™ CH;CH,C—0"
) (2 (3

A3gtigt2
B.2gt3gt1
Clgt3gt2

D.2gtigt3


https://dl.doubtnut.com/l/_Fp4qaUr43vah
https://dl.doubtnut.com/l/_sdzt4EMaRT7N

Answer: D

o Watch Video Solution

28. |dentify products of the given reactions :

OTs
) CHLCO4N?
Reaction-1 37272, Product
CllgCCl—‘:]:
MEQ
WOTs
o CH,C0,Na
Reaction-2 —2"2' " 5 Praduct
CH4C05H
NMEZ
A. <:LNMez ‘O\NMez
WO__Cily WOL__CHy
B O‘N:‘i m@N M;u;
'.N()ij single product is obtained in both the reactions . . . .
C. (B single product is obtained in both the
reactions
NMe,

D. single product obtained in both the reactions


https://dl.doubtnut.com/l/_sdzt4EMaRT7N
https://dl.doubtnut.com/l/_Q7VFQrmQzWTq

Answer: A

o Watch Video Solution

log(rate) ——y»
we)

| | |
20. CHy-X Me~CH,-X Me,CH-X  MezCH-X

Which of the following is true about given graphs Aand B ?
AA— Syt B— Sy
BBA— Sy: B — Sy
C.A and B — El

D.A and B — E»

Answer: A

f


https://dl.doubtnut.com/l/_Q7VFQrmQzWTq
https://dl.doubtnut.com/l/_v3i3ZeVW06wK

| ° Watch Video Solution

30. In each of the following groups, which is the strongest (best)

nucleophile ?

AN

(1) (1) HyC -0~ (2) 0~ (3) I13C -5~ in CILOII
(In (1 oH" (2) H,0 (3) NH3 in DMF
AN
(II0) (1) (2) (O (3) CI1,0” in DMSO
A 13,113, 111,2

B.1,2,11,1,1,3

C.LL, 1,2, 1)

D.1,3,1,3,1,3

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_v3i3ZeVW06wK
https://dl.doubtnut.com/l/_T8oosyiv6UHF

NeNHz 5 (A) ; Product (A)is :

0
@— i~ (CHa)y = Oy = Ol hony exhane
9]

31

i
@_ ‘SI"(CHE)E ~CH=CH,
o)

A.

©3%e

o]

—(CHy)4 ~CH, - NH;

>

o=w

C.

D. None of these

Answer: B

o Watch Video Solution

32. Which of the following reaction is an elimination reaction ?

H
SanlO T


https://dl.doubtnut.com/l/_p93LdkMeknd4
https://dl.doubtnut.com/l/_aAR9HGiQ12Cg

L
% Br K
H —_— + IBr + KBr
Br
B.

H H
gnr NaOCH, O<0CH]

D. both (a) and (b)

Answer: D

o Watch Video Solution

O

CH4,0Na
| | CH.OH(S }—} Prﬂduct
CH,-Cl oGy

33.

Which of the following products can be obtained from above reaction ?

I

0 CH, - OCH,4
A. >


https://dl.doubtnut.com/l/_aAR9HGiQ12Cg
https://dl.doubtnut.com/l/_QALw8kLFyIdQ

D. All of these

Answer: D

o Watch Video Solution

34. What is the principal product of the following reaction ?

CH4
H—1+—Br
H—t+—H + NaN4;—— Product
H—1+—Cl



https://dl.doubtnut.com/l/_QALw8kLFyIdQ
https://dl.doubtnut.com/l/_UifGJRm2QvQo

C ]‘] 3



https://dl.doubtnut.com/l/_UifGJRm2QvQo

Answer: C

° Watch Video Solution

35. What would be the effect of increasing solvent polarity on the rate of
each of the following reactions ?
o
(ANu+R—-L — Nu— R+ L™
BR—-L® - R®+1L
A.increases
B. decrease

C. constant

D. can not predict

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_UifGJRm2QvQo
https://dl.doubtnut.com/l/_V3LPLBNgYo64

36. Which of the following is most reactive towards Sy 1 reaction?
A.CH, =CH — CH, — Cl
B.Ph — CHy, — Cl
N
Me-0O (I

D.Ph—|('J’—CH2—C'l
0

Answer: D

o Watch Video Solution

37. 4-chloro-1-butanol + NaOH — (B)

Product (B) of the above reaction is :


https://dl.doubtnut.com/l/_Ghsdj8En87PC
https://dl.doubtnut.com/l/_OrWpLfE2BcVy

Answer: B

o Watch Video Solution

38. In the given pairs of alkyl-halide, in which pair the first compound is

more reactive than second compound toward Sy reaction ?

A. (CH3)2CHB’I° or CH3 — CHy — CHy — Br

B.CH3 —CHy — CHy — Br or CH3 —CHy —CHy — CHy — I


https://dl.doubtnut.com/l/_OrWpLfE2BcVy
https://dl.doubtnut.com/l/_615WEShMSr0B

C.Ph— Br or CHy; — CHy — CHy — Br

DCH2 :CH—CHQ—CZ or HQC:CH—CZ

Answer: D

° Watch Video Solution

39. Among the following pair of reactions in which pair the second
reaction is more reactive than first in Sy reaction ?
ACH;—CH, - Cl+CH3; —CH,— O  — Et—O—E (or)
CH, -CH, - Cl+CH; —CHy, —OH — Et— 0O — Et
B.CH; —CHy — Cl+ ErO~ — Et— O — Et (or)
CH; —-CH, - Cl+ ErS™ — CH3; —CHy, — S — Et
C. Et —Cl+CH30" — Et— O — CH; (or) underset((2m))

(1m) (2m)

(Et)-Cl+underset((1m))(CH (3))0”(-)rarrEt-O-CH (3)'


https://dl.doubtnut.com/l/_615WEShMSr0B
https://dl.doubtnut.com/l/_KRLgUSsNYcEV

D
D.Et — Br + PhyP — Et — PPhy (or)

(&)
Et — Br + PhasN — E+ — NPhy

Answer: B

o Watch Video Solution

40. Among the following pair of reactions in which pair the second

reaction is more reactive than first in Sy reaction ?

A. Me3;CCl + HyO — Me3sCOH (or)

Mech’l” + HgO — M6300H

MesCCl + CH3;0H — MesC — OCHs  (or) Me® C — Cl + Hy(
1
MesC—-OH

C. Me3sCCl + HyO — (or) Me3CCl + H20
(1m) (2m)

D. All of these

Answer: D


https://dl.doubtnut.com/l/_KRLgUSsNYcEV
https://dl.doubtnut.com/l/_tLSshFsVuRGq

° Watch Video Solution

41. Which is a true statement concerning the transition state of an Sy»

reaction ?

A. Closely resembles a carbocation intermediate

B. The electrophile is responsible for the reaction

C. Lower is energy than the starting materials

D. Involves both the nucleophile and electrophile

Answer: D

o Watch Video Solution

42. Increasing the concentration of a nucleophile in a typical Sy reaction

by a factor of 10 will cause the reaction rate to :

A. increase by a factor of 10


https://dl.doubtnut.com/l/_tLSshFsVuRGq
https://dl.doubtnut.com/l/_04PlH4n2Jnvf
https://dl.doubtnut.com/l/_2CADWIrR1rGZ

B. increase by a factor of 10?
C. decrease by a factor of 10

D. remain about the same

Answer: A

° Watch Video Solution

43. Decreasing the concentration of an electrophile in a typical Sy
reaction by a factor of 3 will cause the reaction ratio to :

A. increase by a factor of 3

B. increase by a factor of 32

C. decrease by a factor of 3

D. remain about the same

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_2CADWIrR1rGZ
https://dl.doubtnut.com/l/_TosiqQ2Qhdzn

44. Increasing the concentration of an electrophile in a typical Sy

reaction by a factor of 3 and the concentration of the nucleophile by a

factor of 3 will change the reaction rate to :

A.increase by a factor of 6

B. increase by a factor of 9

C. decrease by a factor of 3

D. remain about the same

Answer: B

o Watch Video Solution

45. Consider the following reaction and select the best choice that

represents the reaction.


https://dl.doubtnut.com/l/_TosiqQ2Qhdzn
https://dl.doubtnut.com/l/_tAWfnlgiVBmQ
https://dl.doubtnut.com/l/_DxSLtOjhyvA1

-f.r' m - P
3 Na® " SCHLCH.
mﬂ 2= 5 Product
r
"‘-n
CH,CH,

CHy CHj

"-"H
SCH,CHj

\" SCH,CH,

N
gﬂ
T

CH, an
“ S - CH,CH,

g

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_DxSLtOjhyvA1

[
Me ——H
Et——D __KsH Product; Identify the product.

46. H

SH
Me ——H
Et——D

HS —1—Me



https://dl.doubtnut.com/l/_1741iJSTi7zf

Answer: D

° Watch Video Solution

47.The reaction,

H OH H (¢l

\/{ +80Cl, —> ~__~

the........... mechanism.

A Sy
B. Sy
C. SEZ

D. SNi

Answer: A

+ 50, + HCI

proceeds by

° Watch Video Solution



https://dl.doubtnut.com/l/_1741iJSTi7zf
https://dl.doubtnut.com/l/_LT7KX0Jvzzna

48. Consider the following anions.

O
1 . g 1
CFy- S0 Cell: -ﬁ—o @/ CHy ~C -0~
5 0
() (mn V)

(n
When attached to sp -hybridized carbon, their leaving group ability in

nucleophilic substitution reaction decreases in the order :

Al>II>III>1V
B.I >1II>1V > 111
CIV >1>1I>1II

D.IV > III > 1II > 1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_VbDs8uJvo6qZ

Ph
H CH,
Cl H

+

Ph

49,

organic product of the reaction will be:

Ph
H——— CH,
PhS—T—H
Ph
A
Ph
H—1—CH,
H—1—SPh
B Ph
Ph
Ph —+——CHj
H——Cl
Ph

Principal


https://dl.doubtnut.com/l/_vLNGjlnJdSQ8

H——1+——CHj4
H—1+—Ph
Ph
D.
Answer: B

o Watch Video Solution

50. Reaction of R-2-butanol with p-toluenesulphonyl chloride in pyridine

followed by reaction with LiBr gives:

A. R-2-butyl bromide

B. S-2-butyl tosylate

C. R-2-butyl tosylate

D. S-2-butyl bromide

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_vLNGjlnJdSQ8
https://dl.doubtnut.com/l/_fCISJmhclB5x

51. The compound which undergoes SN1 reaction most rapidly is :

O
A.

O
B.

Q—CHQBL-
C.
D.

Answer: B

o Watch Video Solution

52. Addition of KI accelerates the hydrolysis of primary alkyl halides

because :


https://dl.doubtnut.com/l/_pZmg1rewBOiM
https://dl.doubtnut.com/l/_4PppdZnqB0Sy

A. Kl is soluble in organic solvents

B. the iodide ion is a weak base and a poor leaving group

C.the iodide ion is a strong base

D. the iodide ion is a powerful nucleophile as well as a good leaving

group

Answer: D

o Watch Video Solution

53. Which of the following phrases are not correctly associated with Svi
reaction ?

(1) Rearrangement is possible

(2) Rate is affected by polarity of solvent

(3) The strength of the nucleophile is important in determining rate

(4) The reactivity series is tertiary > secondary > primary

(5) Proceeds with complete inversion of configuration


https://dl.doubtnut.com/l/_4PppdZnqB0Sy
https://dl.doubtnut.com/l/_KWEZDvmcuEBb

A. 3,5

B.5 only

C.2,3,5

D.3 only

Answer: A

o Watch Video Solution

S0,Cly 4 4y __NBS | (py.

hv

54.

KSH_, (C), Product (©) is :



https://dl.doubtnut.com/l/_KWEZDvmcuEBb
https://dl.doubtnut.com/l/_r6rhE8oEBx4T

B.
Br
: ;SH
C.
Br
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_r6rhE8oEBx4T

55. Energy profile diagram for exothermic reaction, A - B — C — D,

is given below, The rate determining step of reaction

1

T | 3
PE. 8 ¢
A D

. -3
Progress of the reacnion —

AA—+ B

B.B—C

c.C—D

D. can not predict

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_r6rhE8oEBx4T
https://dl.doubtnut.com/l/_rjKJeOru2dRG
https://dl.doubtnut.com/l/_QtFYX1ibOhQ6

56.

Br
o

Answer: A


https://dl.doubtnut.com/l/_QtFYX1ibOhQ6

° Watch Video Solution

O{l/\ — LiB/DMSO_, Major product (X)
5. s conditions

Cl N

57.

The product X is :
Oii/\
Cl
A

B. Br
O{r/\
Br
C.
Cl
/
D.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_QtFYX1ibOhQ6
https://dl.doubtnut.com/l/_Ukh4OWCmd1Hu
https://dl.doubtnut.com/l/_5Dghb4EKAV35

58. Relative rate of reaction of the following amine with methyl iodide is:

A ,q%
4 M CJN

(Al (B} [

AAA>B>C
B.A>C>B
CB>C>A

DB>A>C

Answer: C

o Watch Video Solution

PhCH,0._ :' DTS
C7 N\ A
7 C--- OCH, .. S
H 1'_1 Dimethyl sulfoxide
OCH,

59.


https://dl.doubtnut.com/l/_5Dghb4EKAV35
https://dl.doubtnut.com/l/_xEJSLZthwDoA

H
4 LO0Ts
l C V)
P H
>
¥ C=OCH;

OCH,

ocuzpﬁ\ .
¢ € \- )
1-1’ -OCH,4

QCH,

- I
[ L
HI : \c'- H
oo

OCHj

Answer: C

° Watch Video Solution

HS

NaQH in
aqueous EtOH

Cl

(A)
{major)

CeHlS

+

HS



https://dl.doubtnut.com/l/_xEJSLZthwDoA
https://dl.doubtnut.com/l/_SA1KmfsRDk19

o
Ql
.
-

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_SA1KmfsRDk19

H
|

CHy — G — Cl%—CHj,3 — Major product of the reaction is:
61 CH, OTs

CHg 14 Ph
U
CH,”~ “\CH,

Ph
14
CHy — ¢ — CH = CH,

CH,
B.
CH?;\ 14/P]1
c=¢C
CHy” “CHj
C.
CHy_  _-Fh
CHy” "N Cll,
D. 14
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_SA1KmfsRDk19
https://dl.doubtnut.com/l/_pWHobVt97c8z

62. The decreasing order of reactivity of the compounds given below

towards solvolysis under identical conditions is :

Cl (I;‘l

|
CH; - C — CHy CHy - C - CHyq

CH3 - C - CH,4

(D (In (11D

AIl > 1III >1

B.I > 1II>III

CIII>II>1T

D.II > 1> 111

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Cm8VjjWp1r0x

OH

1.0ne £q. NaOH .
H _ 1-Onefiq Na » (A); Product (A) is :

63.

ivie
OH
A.

OH

OH

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_dYjVzF3eovoM

64. (R)-2-octyl tosylate is solvolyzed in water under ideal conditions. The

product(s) will be:

A. R-2-octanol and S-2-octanol in a 1:1 ratio

B. R-2-octanol and S-2-octanol in a 1.5:1 ratio

C. R-2-octanol only

D. S-2-octanol only

Answer: B

o Watch Video Solution

65. From each of the following pairs select the compound that will react
faster with sodium iodide in acetone:

Pair-A: (1) 2-Chloropropane

(2) 2- Bromopropane

Pair-B: (3) 1- Bromobutane

(4) 2- Bromobutane


https://dl.doubtnut.com/l/_bs4eNgxZUcvI
https://dl.doubtnut.com/l/_bA7m7Sjhqcmd

A 13

B.1,4

C.23

D.24

Answer: C

o Watch Video Solution

66. Among the given halides, which one will give same product in both

Sy1 andSy: reactions.

CH,

| b CHB
(D CH; ~ CH - CH, — CH-CH; (11) (I
Cl

Br

ci
(I11) O/ (IV) CH, — (|:H ~Br

Et

A. (I) only

B. (1) & (Il



https://dl.doubtnut.com/l/_bA7m7Sjhqcmd
https://dl.doubtnut.com/l/_vu6f4FFFcC4A

C. (1) & (Iv)

D. (1), (1) & (IV)

Answer: D

° Watch Video Solution

67. Product(s) formed during this reaction is/are :

CH,, — CH, - OTs

©/ —AON2_, product ? [C” = isotopic carbon]
AcOH

CH, - CH, - OAc

A
*
CH, - CH, — OAc
B. :
CH, - CH, - OTs
C ;;Ac

D. both (a) and (b)

Answer: D


https://dl.doubtnut.com/l/_vu6f4FFFcC4A
https://dl.doubtnut.com/l/_Zw832xaPYQ5P

° Watch Video Solution

68. Anisole 0 veset(excess HI (conc.)) — Product
refiux

I + CHgl

1 + CHyOH

o ©

,n@

OH + CHjl

_U@

OH + CHyCH,I

Answer: C

° Watch Video Solution

69. Which of the following compounds would react faster with NaCN in an

Syereaction ?


https://dl.doubtnut.com/l/_Zw832xaPYQ5P
https://dl.doubtnut.com/l/_ODiqoRsRM2vl
https://dl.doubtnut.com/l/_zG8R768s4fv2

C.
NNoTs
D.
Answer: D

o Watch Video Solution

70. HC = CNa + Cl — CH; — CHy — CHy — I — (A) Major product

(A) is :

AH-C=C-CHy —-CHy; —CHy; — 1

B.CHy =CH — CHy — I


https://dl.doubtnut.com/l/_zG8R768s4fv2
https://dl.doubtnut.com/l/_7dFw5fFcN3XD

CH-C=C-CHy,-CHy, — CH, — Cl

D.CHy, = CH — CH, — Cl

Answer: C

° Watch Video Solution

71. What is the major product obtained in the following reaction

Et,O
SNa + CIH; — Br ———> Product.

4

S
Q “CH,


https://dl.doubtnut.com/l/_7dFw5fFcN3XD
https://dl.doubtnut.com/l/_ecYmxmsoXx1Z

Answer: C

° Watch Video Solution

Br CH4 s, _
+ OH —2=— A; The product Ais :
H

1§ H
H>C><CH3
HO H

C.Both (a) and (b) are correct

72.

A.

D. None is correct


https://dl.doubtnut.com/l/_ecYmxmsoXx1Z
https://dl.doubtnut.com/l/_VE4lB9Ar5FJN

Answer: B

° Watch Video Solution

H>0
73. MesC = CH — CHy, — CH, — Cl ﬁ (X), Major product of the
abUs

reaction is :
OH
|
A . Me — C — CH2 — CH2 — CHz
|
Me

B. Me,C = CH — CHy — CHy, — OH

C. Me,C = CH — CH — CH, — OH
|
OH

OH

CMe,

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_VE4lB9Ar5FJN
https://dl.doubtnut.com/l/_6GxiKTC7R0Rv

OH OH
HBr (A __HBr ,¢B)
A A

CH,OH OCH,
74.
OH OI
@/ and @/
A CH,Br Br
OH OH
@/ and @/
CH,Br OH
OH Br
cael
C CH,Br OH
Br Br
and
D CH,0H OCH,
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_JZopZCqgcs0N

75. Relative rate of reaction with H,O.

CHy CHjy
/
0] (i) CH; (iif)
i
—ONS = _D_ﬁ —@—N02
(@]

Answer: C

° Watch Video Solution

0 O

2 eq. KNH:z N n—(ﬁin--Br N {P} .
7 L4 ¥
)J\/”\ NHj(1) then H,0%

76.


https://dl.doubtnut.com/l/_nLeb8txowXnB
https://dl.doubtnut.com/l/_4vN7iYuzOlFr

A

e
L
ias
M

Answer: D

° Watch Video Solution

77. Which of the following statements is correct regarding the rate of

hydrolysis of the compounds (A) and (B) by Sy= reaction ?


https://dl.doubtnut.com/l/_4vN7iYuzOlFr
https://dl.doubtnut.com/l/_BZUzbkzv7piJ

Br O Br

A. A reacts faster than B
B. B reacts faster than A
C.Both A and B reacts at the same rate

D. Neither A nor B reacts

Answer: B

o Watch Video Solution

78. What are reactant X and product Y in the following sequence of

reactions ?


https://dl.doubtnut.com/l/_BZUzbkzv7piJ
https://dl.doubtnut.com/l/_qUQ3nVgMsbeu

(0]

[
|13CD—SCL ﬁ
(II) HiC 0—5— cHy
Reactant XT H>O<H (! Ehanolwae Product Y
Reactant X Product ¥
HoC oH c N
() 1CW Hy W a
H~ ~H - Y
OH H,C H
® "N DOK
H- H H~ "N
1,C H H4C H
© "SNE XX
I_I.o ‘\OH l.[..“ Nq
@ S TISOK
H .OH H “H
° Watch Video Solution
CH,—Br CH,—O0—R
= @/
—_——

<

Sy, reaction



https://dl.doubtnut.com/l/_qUQ3nVgMsbeu
https://dl.doubtnut.com/l/_xLssudJpbfz4

B0+) =+

B3
OR

¢ H

Br
50

Answer: D

° Watch Video Solution

80.CsHi13Br + OH  — CgH130H + Br~ this reaction is an example

of:


https://dl.doubtnut.com/l/_xLssudJpbfz4
https://dl.doubtnut.com/l/_8xNdd9kuypCC

A. Nucleophilic addition

B. Nucleophilic substitution

C. Electrophilic addition

D. Electrophilic substitution

Answer: B

o Watch Video Solution

81. Transition state 2 is structurally most likely as :

4 TE.2 T5.3

intermedisre 2

fmtermediate 1

poed et

reaciant

A. intermediate 1


https://dl.doubtnut.com/l/_8xNdd9kuypCC
https://dl.doubtnut.com/l/_WN79xKszSGJd

B. transition state 3

C.intermediate 2

D. product

Answer: C

o Watch Video Solution

CH;

82.
x = Number of aromatic compound obtained when above compound

undergo complete acidic hydrolysis.


https://dl.doubtnut.com/l/_WN79xKszSGJd
https://dl.doubtnut.com/l/_RfeFuJcB7xm5

Al

B.2

C.3

D.4

Answer: B

o View Text Solution

8. Sy and Sy: reactions are

A. Both stereospecific
B. Both stereoselective
C. Stereoselective and stereospecific respectively

D. Stereospecific and stereoselective respectively

Answer: B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_RfeFuJcB7xm5
https://dl.doubtnut.com/l/_A5v8MdJ1lu6v

84. Most reactive compound toward Sy is :

CH,y—1

g

A.

;ng—I
B.

Hay—1
C.

ECH? -1
D.

Answer: D

| e


https://dl.doubtnut.com/l/_A5v8MdJ1lu6v
https://dl.doubtnut.com/l/_iOyw4eCG3pM3

I & Watch Video Solution

]EI]H
1. NaNHy (2eq.)
2CH,CHy—I
3. CHy -1
4, Hy/ Pd-BasS0y
OH
85.
CH,CH,
j
A. CH,—0—CH,
CH.CH,
5 C“\ocnj
CH;
|
C. CH,—OCH,CH;,

CHy
: ~ 0—CIL,CH,

D.

s Product (X)) is


https://dl.doubtnut.com/l/_iOyw4eCG3pM3
https://dl.doubtnut.com/l/_HOYOdsXfFh27

Answer: B

° Watch Video Solution

86. Following reaction is an example of :

\./ + R,NH —=

0

A. Sy Reaction
B. Sy Reaction
C. Electrophilic Addition

D. Sy - NGP

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_HOYOdsXfFh27
https://dl.doubtnut.com/l/_pjTmG7cL5Fat

87. The major product of the following reaction : :

OH
N -'@"' [x]
H

Br

G

B.
C. " Br
o >_/\DH

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_fksUXw1egBvN
https://dl.doubtnut.com/l/_zFlCcuxFxGAa

88. Choose the suitable option for the correct mechanism for the

following reactions.

CH5 O X
+ CH0° —/. (D O‘ + CH,0H
Br high Br

cOnCentration

A Sy, Syt

B. SNl, SNz

C. SN2, SNI

D. Syz2, Sy

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_zFlCcuxFxGAa

8] 0
/\/< >< B, Reaction 1
HO O
OMe o
(9]
o ., O Reaction 2
Br N:g
89.

Type of mechanism followed by reaction 1and 2 respectively .
A Sy, Syt
B.Sy1, Sy
C. SN2, SNI

D. Syz2, Sy

Answer: C

o Watch Video Solution

Ts

d : -5
——= Product
A XA —

-:H:‘?
wr
TTT] | R

L

90.


https://dl.doubtnut.com/l/_89ytazAhsMFi
https://dl.doubtnut.com/l/_1Zuj5gM6SUux

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_1Zuj5gM6SUux

1. Statement - 1 : Nucleophilicity order in polar-protic solvent is 'I*(-)<

Br”(-)< CI"*(-) Statement-2 : Due to bigger size of | it is less solvated in

polar-protic solvent.

A. Statement-1 is true, statement -2 is true and statement - 2 is correct

explanation for statementn-1

B. Statement-1 is true, statement - 2 is true and statement -2 is NOT

the correct explanation statement-1.

C. Statement-1 is true, statement-2 is false.

D. Statement-1 is false, statement- 2 is true.

Answer: D

° Watch Video Solution

2. Statement - 1

Acetone

CHg—CHQ—Cl+Nal——>CH3—CH2—I+NG,Cll


https://dl.doubtnut.com/l/_GDrWaOdLspz0
https://dl.doubtnut.com/l/_de2o6qoDaxgK

Statement- 2 : Acetone is polar-aprotic solvent and solubility order of
sodium halides decreases dramatically in order Nal > NaBr > NaCl. The
last being virtually insoluble in this solvent and a 1° and 2° chloro alkane
in acetone is completely driven to the side of lodoalkane by the
precipitation reaction.
A. Statement-1 is true, Statement-2 is true and Statement-2 is correct
explanation for statement-1.
B. Statement-1 is true, Statement-2 is true and Statement-2 is Not the
correct explanation for statement-1.

C. Statement-1is true, Statement-2 is false.

D. Statement-1 is false, Statement-2 is true.

Answer: A::C

o Watch Video Solution

3. Encircle whichever of the following:


https://dl.doubtnut.com/l/_de2o6qoDaxgK
https://dl.doubtnut.com/l/_JDXbz7aBXAlv

A. is the stronger nucleophile (aprotic solvent): F'~ or I~

B. is the stronger nucleophile (protic solvent): F'~ or I ~

C.is the stronger base: F' "or I~

D. is the stronger nucleophile (protic solvent) : NHs,or NHy NH,

(e) is the better leaving group : CH3COO ™~ or CH3504

Answer:

o Watch Video Solution

4. Encircle whichever of the following:

undergoes Sne reaction more rapidly,

Br

i
CyHs — Br or CH; — Br or CH; — CH — CHj

o Watch Video Solution



https://dl.doubtnut.com/l/_JDXbz7aBXAlv
https://dl.doubtnut.com/l/_99RciiKoczaB

5. Encircle whichever of the following:

undergoes Syt reaction more

Br

|
CH3 — Br or CHg — CH — CH3

rapidly,

° Watch Video Solution

6. Encircle whichever of the following:

undergoes an E, reaction to give (Z) - 1,2 - diphenylpropene :

Pl"mHEI . P
1 “SCH.

Ph Ph
H———DBr Br——H
oar

Ph Ph



https://dl.doubtnut.com/l/_1UKCNVbBrXBy
https://dl.doubtnut.com/l/_wfhYFZCXs7J5

I o Watch Video Solution \

7. Encircle whichever of the following:

reacts with Nal to give (Z) - 1,2 diphenylpropene :

Ph Ph
H—rg—Br Br——H
ar
Br—— CH, Br——CH,
Ph Ph

° Watch Video Solution

8. Encircle whichever of the following:

undergoes Sy reaction more rapidly,

Br Br

OF

I ° Watch Video Solution


https://dl.doubtnut.com/l/_wfhYFZCXs7J5
https://dl.doubtnut.com/l/_nerImXugHSD4
https://dl.doubtnut.com/l/_3M3xz9WjhMew

9. Encircle whichever of the following :

undergoes Sy reaction more rapidly

e
CH,-Br
or Br

o Watch Video Solution

10. Encircle whichever of the following :

undergoes an Eq reaction more rapidly
CHgq fi'Ha
H-CH—CH, C=CHy-CHj
| b
Br or Br

° Watch Video Solution



https://dl.doubtnut.com/l/_3M3xz9WjhMew
https://dl.doubtnut.com/l/_C6sxv7KVSvEX
https://dl.doubtnut.com/l/_0Sjqpt607oAT
https://dl.doubtnut.com/l/_q3iliFcNXtrN

11. Encircle whichever of the following :

undergoes an Sy reaction more rapidly :

Br

or
Br

° Watch Video Solution

12. Encircle whichever of the following :

undergoes an Sy2 reaction more rapidly :

Cl
Cl
A5

° Watch Video Solution



https://dl.doubtnut.com/l/_q3iliFcNXtrN
https://dl.doubtnut.com/l/_L5prHKpZk8Qk
https://dl.doubtnut.com/l/_NkUahoVbg3IT

13. Encircle whichever of the following :

undergoes an E5 reaction more rapidly :

Cl

Cl
or

o Watch Video Solution

14. Match the column :

o Watch Video Solution



https://dl.doubtnut.com/l/_NkUahoVbg3IT
https://dl.doubtnut.com/l/_1UklDqW9M2Ao

15. Matrix :

(bf ©‘) jq] SNZ reaction can take place

(o) ') () | S, is not possible
[ / .. ]

() @‘) :J 2 18 not possible
il

o Watch Video Solution

16. Encircle whichever of the following :

undergoes an Sy reaction more rapidly:

Br

or
Br

o Watch Video Solution



https://dl.doubtnut.com/l/_sVqJGwajhnF1
https://dl.doubtnut.com/l/_eQ4rkvrGfFwN

17. Encircle whichever of the following :
undergoes an Sy reaction more rapidly :

(CH;),C — Br or (CH3),C — 1

° Watch Video Solution

18. Encircle whichever of the following :

undergoes an S reaction more
Br

Br
Or

rapidly

° Watch Video Solution



https://dl.doubtnut.com/l/_E4vkrCFb8TNp
https://dl.doubtnut.com/l/_kiaJSCcbi96W

19. Reativity : Circle the reaction that reacts FASTER by Sy in each pair,

NG Mot ) NN O ) DO,
SNy aOCH; R L v T SN

o Watch Video Solution

20. Consider the potential energy diagram given below

Energy

Reaction Progress

(X) Name the positions A-D
(Y) Answer the following quesitons :

(i) Both reactoin pathways are:



https://dl.doubtnut.com/l/_5KL7J7mzrl7n
https://dl.doubtnut.com/l/_KZFxdMd1KLZl

(ii) Which step is the determining step (RDS) ?

(iii) Which product is most stable ?

(iv) In accordance with Hammonds postulate, exothermic reactions tend

to have

A. early transition states that are reactant - like

B. late transition states that are reactant - like

C. early transition states that are product - like

D. late transition states that are product- like.

Answer: A::B::C::D

o Watch Video Solution

21. Select whether the following combinations of reactants will react by

substitution  (Sy: or Sy:  mechanism)  elimination (E; or E,


https://dl.doubtnut.com/l/_KZFxdMd1KLZl
https://dl.doubtnut.com/l/_mLvgvmYfLeOf

mechanism)

Br Bal in acetone
250

b

A. Sy

B. SN2

C. k4

D. E»

Answer: A::B

° Watch Video Solution

22. Select whether the following combinations of reactants will react by

substitution  (Sy: or Sy:  mechanism)  elimination (Ep or E


https://dl.doubtnut.com/l/_mLvgvmYfLeOf
https://dl.doubtnut.com/l/_qlEPhdwSdaDc

mechanism)

i MNat 4 in methanol
C Michiucatirule’ —

a0"C

A. SNI

B. SNZ

C.E,

D. E,

Answer: B

° Watch Video Solution

23. Select whether the following combinations of reactants will react by

substitution  (Sy: or Syz  mechanism)  elimination (E; or Ej,


https://dl.doubtnut.com/l/_qlEPhdwSdaDc
https://dl.doubtnut.com/l/_ETUXcGgWdkxa

mechanism)

Cl | .
NalH 5 in methanol
A —

S50

A. SNI

B. Sye

C.E,

D. E,

Answer: C::D

° Watch Video Solution

24. Select whether the following combinations of reactants will react by

substitution  (Sy: or Sy:  mechanism) elimination (E; or E,


https://dl.doubtnut.com/l/_ETUXcGgWdkxa
https://dl.doubtnut.com/l/_8dj46d6Fjiam

mechanism)

HBr 48% in HaO
3570 .

(Cl,)4C - OH

A. Sy
B. Sy
C.E;

D. E»

Answer: A::D

° Watch Video Solution

25. Select whether the following combinations of reactants will react by

substitution  (Sy: or Sy:  mechanism)  elimination (E; or E»


https://dl.doubtnut.com/l/_8dj46d6Fjiam
https://dl.doubtnut.com/l/_tnLq1UVRYOWH

mechanism)

MalM in ttth{iI L,

(CH4 },CH -~ Br P

A Sy
B. Sy
C.E

D. E,

Answer: B

o Watch Video Solution

26. Select whether the following combinations of reactants will react by

substitution  (Sy: or Sy:  mechanism)  elimination (E; or E,


https://dl.doubtnut.com/l/_tnLq1UVRYOWH
https://dl.doubtnut.com/l/_lXlGxfPcgRns

mechanism)

F Br MaCN i_rlal_tl-.'rll:lan:.:!
) 25°C

x

A. Sy

B. Sy

C. k4

D. E»

Answer: B

° Watch Video Solution

27. Select whether the following combinations of reactants will react by

substitution  (Sy: or Sy2  mechanism)  elimination (Ep or E


https://dl.doubtnut.com/l/_lXlGxfPcgRns
https://dl.doubtnut.com/l/_VskakmEwcWiQ

mechanism)

G. (CH4),CHCH,CH, —OH

HBr 48% in HoO
50°C

A Sy

B. Sy

C.E

D. E,

Answer: B

° Watch Video Solution

28. Examine the ten structural formulas shown in fig. & select that satify
each of the following conditions. Write one or more (a through J) in each

answer box.


https://dl.doubtnut.com/l/_VskakmEwcWiQ
https://dl.doubtnut.com/l/_IGhMzfsFqhRc

CH,

| ; =
@ ©/ i @) He—C—d @ O/ S
CH,
o CH, - Br al
i

() CH; =1

<

CH
B Br

| :
(2) Hsc—(lz—cHz—cl _ (1)

o

CHs

cl
ol CF

CH,

A. Which compounds give and Sy: substitution reaction on treatment
with alcoholic NaSH ?

B. Which compounds give and E3 elimation reaction on treatment with
alcoholic KOH ?

C. Which compounds do not react under either of the previous reaction

conditions ?

o Watch Video Solution

29. Select which reaction from the following reaction pairs will occur

faster.


https://dl.doubtnut.com/l/_IGhMzfsFqhRc
https://dl.doubtnut.com/l/_UdTzLYd8w3Gl

| I OH
| 5
| Reaction A CHs 0 b CHg
DMSO
I OH
Reaction B H H40 H
DMSO

o Watch Video Solution

30. Select which reaction from the following reaction pairs will occur

faster.

PART - 2

CH,CI

B I

Cl
DMSO

° Watch Video Solution

31. Select which reaction from the following

faster.

reaction pairs will occur



https://dl.doubtnut.com/l/_UdTzLYd8w3Gl
https://dl.doubtnut.com/l/_7Z11kiwF8gjq
https://dl.doubtnut.com/l/_uWxk8olPuotP

o Watch Video Solution

32. Select which reaction from the following reaction pairs will occur

faster.

I

Ny

| Reaction G O<[1 __Maby o H
DMS0

Br Ny
Reaction H O<H bl (j<n |
DMSO |
1

° Watch Video Solution

33. Select which reaction from the following reaction pairs will occur

faster.


https://dl.doubtnut.com/l/_uWxk8olPuotP
https://dl.doubtnut.com/l/_rcBVqQfXbUnJ
https://dl.doubtnut.com/l/_BLE0oRywxqq8

' Gy = CHy—1

Reaction I Nl
acerone |
Br I '
Reaction J —Nal
aoetone
CH4 CHg L

o Watch Video Solution

34.Tick your answer in the given box.

Expect S
Alkyl Halide 2-D Structure
(at a reasonable rate)
(a) 1-Bromobutane r\/ |
Br No |
1
Yes |
(b) 1- Chlorobutane I/\/
cl No
Br Yes
© 2-Bromobutane /J\/ [
No |
cl Yes
(d) 2-Chlorobutane /]\/
No
Yes
(&) | 2-Chlore-2-methyl propane
cl No



https://dl.doubtnut.com/l/_BLE0oRywxqq8
https://dl.doubtnut.com/l/_gd0GV3o7qxQn

Br Yes
63) Bromocyclohexane © e
No
Br Yes
(2) Bromobenzene
o
CH; - Br Yes.
(h) Benzyl bromide
No
. Yes
(4] 1-Bromo-2,2-dimethyl propane Br\/é‘
No
Yes
g Bicyclo compound
Br Mo
Yes
(s 1-bromaotriptycene
No

° Watch Video Solution



https://dl.doubtnut.com/l/_gd0GV3o7qxQn

35. Match the column :

Column-I Column-II

reaction

(T [t will uncerge Nucleophilic Substitution

(b)

(q) It will undergo £, reaction

ala,

CH,—Cl

CH
(c) l (r) | It will undergo E, reaction
énn

Ik

A () | It will undergo 8. TEaction

(d)

©r

() | 1t will undergo 8, reaction

° Watch Video Solution

. G,

vHI

° Watch Video Solution



https://dl.doubtnut.com/l/_zBSXCODkKMAq
https://dl.doubtnut.com/l/_7hDynanKNaZf

H,0 i
@ Ph;,: P = ® Sy
Cl 28

| A ot @ $rs

F |
(©) @: —"“3“—» () | carbocation is intermediate
/ NO

; — By

GUR /T *ﬁ) (8) | carbanion is intermediate

37. ! - —

o Watch Video Solution

[ el T Gl T

(Reaction sequence) (Reagent required)

(a) k—oe == 2"0& () B0
(b) ?—'Br 3 >= @ EtBr

© | > — >£Et ® EtOH/H®

WP 1 — /\/ (s) Et-Cl/Na ether

38.

o Watch Video Solution



https://dl.doubtnut.com/l/_ezSjgkx1XmIw
https://dl.doubtnut.com/l/_BmdwFg42CQHy

39. Choose the one compound within each set the meets the indicated

criterion :

o View Text Solution

40. Comprehension

The first demonstration of the stereochemistry of the Sy: reaction was
carried out in 1934 by Prof. ED Hughes and his colleagues at the
University of London. They allowed (R) -2- iodooctane to react with

radioactive iodide ion (*I —)
c:Hg(lg}f(cnz)Scns T c113(:|1-I(C}12)5cH3 +1°

| "1
Z-iodooclane 2-iodooctane
fradioacrive)

The rate of substitution (rate constant K5) was determined by measuring
the rate of incorporation of radioactivity into the alkyl halide. The rate of
loss of optical acitivity from the alkyl halide (rate constant K) was also
determined under the same conditions:

What ratio K / K is predicted for each of the following stereochemical


https://dl.doubtnut.com/l/_0W4SF023mGky
https://dl.doubtnut.com/l/_7oxwbHJhjDTx

scenarios :

For inversion reaction :

K,
AZ=2 —q
K
K,

B. =2 1
Kg
K,

c. =2 1
Kg

D. can not be predicted

Answer:

o Watch Video Solution

41. Comprehension

The first demonstration of the stereochemistry of the Sy: reaction was
carried out in 1934 by Prof. ED Hughes and his colleagues at the
University of London. They allowed (R) -2- iodooctane to react with

radioactive iodide ion (*I — )


https://dl.doubtnut.com/l/_7oxwbHJhjDTx
https://dl.doubtnut.com/l/_wTVyl4TwXnqP

CH4CH(CH,)sCH, + *I” === CH;CH(CH,)sCH, + I~
J

*
| 1
Z-lodooctane 2-iodooctane
lradioactive)

The rate of substitution (rate constant K5) was determined by measuring
the rate of incorporation of radioactivity into the alkyl halide. The rate of
loss of optical acitivity from the alkyl halide (rate constant Kj) was also
determined under the same conditions:

What ratio K / K is predicted for each of the following stereochemical
scenarios :

For equal amounts of both retention and inversion ?

K,
A9 —1q
K
K,
B.—-2 <1
Kg
K,
.22 -1
Kg

D. can not be predicted

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_wTVyl4TwXnqP

